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1. Vypoditej zpaméti.
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37+52=_ 89
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64+76=_140
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28+9,4= 122
67+26=_93
49-32=_17
58-29=_29
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2. Vypoditej zpaméti.

0,36+245=_ 281
418+519=_ 937
870-520=_ 341
374-356=_018
028+135=_ 163
418+300=_ 127
8,80-637=_ 243
264-248=_016
3-057=_243
12-09 =11
116- 842=_ 318
104+681=_17.21
38+12=_158
106 - 845=_ 215
2045-121= 539
104-8=__ 24
245+83=_1075
126+8=_200
3-09=_ 21
10-99=_ 01
56+394=_ 954
20, 1845= 3545

3. Dopls,
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aby nastala rovnost.
05 = 385
038 - 3
015 = 505
245= 73
002 = 412
142 = 374
253 = g4
414 = 718
34= 81
64 - ¢
8= 104
086 = 1426
381 = 624
54 = 1236
16 = g
10 = 265
74 = 89
16 - g4
1247 = 2487
025 = 320
845 = 155
10 = 2036
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